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Using function notation to 
describe rules (Part 2)

Lesson 5



Make it 
true 

5.1 Warm Up (5 minutes)

Page

.



Show any and all work in your packet.



How’d it go?



Let’s graph and 
find the values of 

some functions.



Today’s Goals:
❏ I know different ways to find 

the value of a function and to 
solve equations written in 
function notation.

❏ I know what makes a function a 
linear function.

❏ I can use technology to graph a 
function given in function 
notation, and use the graph to 
find the values of the 
function.



Data plans

5.2 Activity (25 minutes)
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Do you know what a DATA PLAN is for a phone? 

Yes No

http://dontchangethislink.peardeckmagic.zone?eyJ0eXBlIjoibXVsdGlwbGVDaG9pY2UiLCJkcmFnZ2FibGVzIjpbeyJpZCI6ImRyYWdnYWJsZTAiLCJ0eXBlIjoiaWNvbiIsImljb24iOnsiaWQiOiJvYmplY3QtcGVhciJ9LCJjb2xvciI6IiM0MUJERUIifV0sImRyYWdnYWJsZVNpemUiOiIxMi45IiwiZW1iZWRkYWJsZVVybCI6Imh0dHBzOi8vIiwiYW5zd2VycyI6WyJZZXMiLCJObyJdfQ==pearId=magic-pear-shape-identifier




In this situation, A(1) 

represents “the cost for 
Option A with usage of 1 

gigabyte of data beyond the 

monthly allowance.”

What does B(1) represent in 

this situation? 

http://dontchangethislink.peardeckmagic.zone?eyJ0eXBlIjoiZnJlZVJlc3BvbnNlLXRleHQiLCJkcmFnZ2FibGVzIjpbeyJpZCI6ImRyYWdnYWJsZTAiLCJ0eXBlIjoiaWNvbiIsImljb24iOnsiaWQiOiJkZWZhdWx0LWNpcmNsZSJ9LCJjb2xvciI6IiNENTFEMjgifV0sImRyYWdnYWJsZVNpemUiOjEyLjU1LCJlbWJlZGRhYmxlVXJsIjoiaHR0cHM6Ly8iLCJhbnN3ZXJzIjpbXX0=pearId=magic-pear-shape-identifier


Complete 1, 2, 3 & 4!

1. a(1) = 60; b(1) = 35



How’d it go?

3. Option A charges a flat fee of $60 each 
month. It doesn’t matter how many gigabytes 
of data are used. Option B charges $10 for 
each gigabyte of data over the 2 gigabytes 
allowance, plus a $25 fee.



How’d it go?



Explain

Which plan do you think 

she should choose?

http://dontchangethislink.peardeckmagic.zone?eyJ0eXBlIjoiZnJlZVJlc3BvbnNlLXRleHQiLCJkcmFnZ2FibGVzIjpbeyJpZCI6ImRyYWdnYWJsZTAiLCJ0eXBlIjoiaWNvbiIsImljb24iOnsiaWQiOiJkZWZhdWx0LWNpcmNsZSJ9LCJjb2xvciI6IiNENTFEMjgifV0sImRyYWdnYWJsZVNpemUiOjEyLjU1LCJlbWJlZGRhYmxlVXJsIjoiaHR0cHM6Ly8iLCJhbnN3ZXJzIjpbXX0=pearId=magic-pear-shape-identifier


the two functions here are linear functions
because the output of each function changes at 
a constant rate relative to the input. 



Option B involves a rate of change of $10 per 
gigabyte of data over the monthly allowance, 
while Option A has a rate of change of $0 per 
gigabyte over the allowance. 



Complete #5



What is the 

answer to 

B(x) = 50?

http://dontchangethislink.peardeckmagic.zone?eyJ0eXBlIjoiZnJlZVJlc3BvbnNlLXRleHQiLCJkcmFnZ2FibGVzIjpbeyJpZCI6ImRyYWdnYWJsZTAiLCJ0eXBlIjoiaWNvbiIsImljb24iOnsiaWQiOiJkZWZhdWx0LWNpcmNsZSJ9LCJjb2xvciI6IiNENTFEMjgifV0sImRyYWdnYWJsZVNpemUiOjEyLjU1LCJlbWJlZGRhYmxlVXJsIjoiaHR0cHM6Ly8iLCJhbnN3ZXJzIjpbXX0=pearId=magic-pear-shape-identifier


Circle how you would rate your understanding of these 

functions...

http://dontchangethislink.peardeckmagic.zone?eyJ0eXBlIjoiZnJlZWhhbmREcmF3aW5nIiwiZHJhZ2dhYmxlcyI6W3siaWQiOiJkcmFnZ2FibGUwIiwidHlwZSI6Imljb24iLCJpY29uIjp7ImlkIjoiZGVmYXVsdC1jaXJjbGUifSwiY29sb3IiOiIjRDUxRDI4In1dLCJkcmFnZ2FibGVTaXplIjoxMi41NSwiZW1iZWRkYWJsZVVybCI6Imh0dHBzOi8vIiwiYW5zd2VycyI6W119pearId=magic-pear-shape-identifier


Function 
notation

5.3 Activity (20 minutes)
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Show any and all work in your packet.
Calculator OK.  No graphing technology.



How’d it go?



NOW → LeÃ’» eä²��µe Ãmp» fÈ�cÃp�� �� DESMOS!



Use the 

Desmos 

Calculator

http://dontchangethislink.peardeckmagic.zone?eyJ0eXBlIjoiZW1iZWRkZWRXZWJzaXRlIiwiZHJhZ2dhYmxlcyI6W3siaWQiOiJkcmFnZ2FibGUwIiwidHlwZSI6Imljb24iLCJpY29uIjp7ImlkIjoiZGVmYXVsdC1jaXJjbGUifSwiY29sb3IiOiIjRDUxRDI4In1dLCJkcmFnZ2FibGVTaXplIjoxMi41NSwiZW1iZWRkYWJsZVVybCI6Imh0dHBzOi8vd3d3LmRlc21vcy5jb20vY2FsY3VsYXRvciIsImFuc3dlcnMiOltdfQ==pearId=magic-pear-shape-identifier


Super cool desmos features!!!



Use Desmos → 
What’s the value of 
B(1.482)?

http://dontchangethislink.peardeckmagic.zone?eyJ0eXBlIjoiZnJlZVJlc3BvbnNlLXRleHQiLCJkcmFnZ2FibGVzIjpbeyJpZCI6ImRyYWdnYWJsZTAiLCJ0eXBlIjoiaWNvbiIsImljb24iOnsiaWQiOiJkZWZhdWx0LWNpcmNsZSJ9LCJjb2xvciI6IiNENTFEMjgifV0sImRyYWdnYWJsZVNpemUiOjEyLjU1LCJlbWJlZGRhYmxlVXJsIjoiaHR0cHM6Ly8iLCJhbnN3ZXJzIjpbXX0=pearId=magic-pear-shape-identifier


Use Desmos → 
Find the value of x that 

makes B(x) = 103.75.

http://dontchangethislink.peardeckmagic.zone?eyJ0eXBlIjoiZnJlZVJlc3BvbnNlLXRleHQiLCJkcmFnZ2FibGVzIjpbeyJpZCI6ImRyYWdnYWJsZTAiLCJ0eXBlIjoiaWNvbiIsImljb24iOnsiaWQiOiJkZWZhdWx0LWNpcmNsZSJ9LCJjb2xvciI6IiNENTFEMjgifV0sImRyYWdnYWJsZVNpemUiOjEyLjU1LCJlbWJlZGRhYmxlVXJsIjoiaHR0cHM6Ly8iLCJhbnN3ZXJzIjpbXX0=pearId=magic-pear-shape-identifier


Circle how comfortable you feel using DESMOS to 

determine function input and output values:

http://dontchangethislink.peardeckmagic.zone?eyJ0eXBlIjoiZnJlZWhhbmREcmF3aW5nIiwiZHJhZ2dhYmxlcyI6W3siaWQiOiJkcmFnZ2FibGUwIiwidHlwZSI6Imljb24iLCJpY29uIjp7ImlkIjoiZGVmYXVsdC1jaXJjbGUifSwiY29sb3IiOiIjRDUxRDI4In1dLCJkcmFnZ2FibGVTaXplIjoxMi41NSwiZW1iZWRkYWJsZVVybCI6Imh0dHBzOi8vIiwiYW5zd2VycyI6W119pearId=magic-pear-shape-identifier


Did we meet our goals?
❏ I know different ways to find 

the value of a function and to 
solve equations written in 
function notation.

❏ I know what makes a function a 
linear function.

❏ I can use technology to graph a 
function given in function 
notation, and use the graph to 
find the values of the 
function.

http://dontchangethislink.peardeckmagic.zone?eyJ0eXBlIjoibXVsdGlwbGVDaG9pY2UiLCJkcmFnZ2FibGVzIjpbeyJpZCI6ImRyYWdnYWJsZTAiLCJ0eXBlIjoiaWNvbiIsImljb24iOnsiaWQiOiJkZWZhdWx0LWNpcmNsZSJ9LCJjb2xvciI6IiNENTFEMjgifV0sImRyYWdnYWJsZVNpemUiOjEyLjU1LCJlbWJlZGRhYmxlVXJsIjoiaHR0cHM6Ly8iLCJhbnN3ZXJzIjpbIlRvdGFsbHkhIiwiTm90IHN1cmUuLi4iXX0=pearId=magic-pear-shape-identifier
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